; e e & 21 EGZ
{‘\U i J E widly
A

LR
B

W AE HTTH! T O G Wt St 7 ST W0 AW 7% T o

A Eﬂ‘ Hi. : BXC-B-GYLI ”mmm" e i s
2081929 wherw gfer
HHTA AETTq
U¥-aF - 11
LR qories : 200
AW

1,

. I IR §R & g A, 3 yo adten gitre 6 mgere s we A B v e R e,

TRET T R BAT P v e, 3R A w | wi v ¥, A e e wheon gt @ amm #

T = T oMR e #, s v @, i T o o gfeee saww A, B, © W
D i, = & vd o ol ww  fadiie & e oin geag v Forstigrfi safmam € 3
Tt sft wemms =t <y vt Bt fearfir o aevoames Fae w Fe o |

w8 wiEn ity o om § B T weas F smow s
T o B | v ofee o alh ge T o |
T g 0 g0 w (W) B # | e e Rl o st ST A oww 2 | o
T H 90 ey (3) Rum ) ot @ v e 9 g9 A, B 99 s s e e
| af st v i o @ e v v §, A 98 v ) sifee S aen o o
wers: WA & o dwmr e A v o

ST I FH T A R T T w g i W # | Imoos § oo Rl E
THF YT A wHE

; mﬁﬂﬁﬁ:mwﬂwg&m%ﬁﬁmmaﬂ@mgﬁ.ﬁmmaﬁﬂmgﬁ#, ATTH! T

WIS % W A e & e e P g 6 2

A I Tl TR e § WA ow we i & S W dew sereew adEs w1 g

3 | R A A i e @ 9 B e 2

wl W % o1 T i gt % o gee

oA 3w % fw A .

Feterem g o o wwem awt & o 4= R o |

(i) mw%mﬂnaﬁlﬁﬁmi|mﬁmmuﬁmm%hﬁﬂ'ﬂﬁwﬂm%mmh
foram fomw o 3T o - Pl 9= % w9 A = amom |

(i) ﬂﬁaﬁiaﬂﬁzmﬁﬁmﬁrwméﬁrﬁ.ﬁrqﬁmmmm.mﬁqmﬁﬁ'ﬁmmm
B R, T ot 3m oo S for swdermm A, 6 e w23 B s

(i) 2 Tfizam g %18 99 W 9 e s 8, s sedEm g 3 A e e 3, F o9 e B
w1E 52 T fan smom

TR 7 SIS TF T QI Wi # T ST 7 AT 0 T

Note ; English veraion of the instruetions is printed on the back cover of this Baoklet,

BXC-B-GYLI (1-A)



Ferferfam 4 (wm) s & fae A !
i Gy av ww viees w0 vew of ohwist & A
M I TR & I T (= vl & B
WTTE 3T aeT B Wliew o B sl g =R |
oieEE - 1
TirgwalA] 4 W W bl (fifes) show
oA Wl A A ¥ geyEs
T 7 W WL % e Al e R e
AT TR O ¥ TE T — FEee
giffr% LED 9% % w99 =9 w59 #K |
Aifgem e 9 & wew oW T | 9 e %
el o — 1 R e | ae & HE W
TW F A9 — WO W e deeE T
T e T R ol T g e OiE =
= T/, TG BT 8 | TR % ¥HE & 39,
s W § W 3ee B F wR e
(tftpe) it e B o s o

1. I viwEE § W W aiEeTET, et
4 o Fio wae mEive Rulas ey &t
HEiTN W H AT & ¢

la) T HEATTm TR R e B
GG G Gt o e 0 R L | D T s

THE TEAE |

by ST e ft it aow
i s o e m A R | |

oy Tl % g i Fre ey o % w6
qe 3 vaE 1w g e # )

iy Tt oritiesfes @9 9 Twes dem &
TR A e Ol o fom gl wiie
form ot wei #

ufess - 2

aHt qeraEl Ot S wifaa H @ s
&0 iEem § weEmr wived g g E, faed gaf
A wME wwi wie 8, ey e ge
TR | T 7 e B e wE sl
F w-my fafew wFm & @ geens e #
fere ot # 1 o o wn A v e afe
wHE W W TR £ ) wom F fem i
e 1yt e 1 1 e
FHEl o (o AeE gEeEye B | wem v i
sad wEeEn B oA i) sl wf % &
Aiee wag] w1 aform &, s s & R oo
wH W FW AW W EWl s wafEm g
8 | we % e @ gl sl
e A et ) s R

T i & AR W, Fefate g

T T

1. e it i e % e e
¥ W9 EHETE H HOAEE IeES HuE

T E
2. FW FHA B TEO FH, HE &
At = T aas 2
3. WEhw o §5 e w9
CEN b e e T e e e
4. et o Tafeemn, dvay 4l o g
Fuden 8 1w ghangdanmd gy g4 o
inl  wHEA 1
(b} AR 2,9 30 4
(e} whael 13 2
idy  FEE a4

BXC-B-2YLI (2-A)



Directions for the following 4 (four) items : |
Read the fallmuing four possoges and ansipar the
tterme that follow, Your cassers fo Fhese fems should
be bosed on the passages only,

Pascage - 2
Approximately B0 percent of all flowering

plant species are pollinated by animals, including

Passapge - 1

Regearchers simulated atreet lighting on
artificial grassland plots containing pea-aphida,
sap-aucking insccts, at night. These were exposed
to two different types of light — a white Light
eimilar tn newer commercial LED lights and an
amber light similar to sodium atreet lamps. The
low intensity amber light was shown to inhihit,
rather than induce, flowering in & wild plant of
the pea family which ia a source of food for the

birda and mammals, but the main pollinators are
inaects. Pollination i= reaponsible for providing
ua with a wide variety of fond, as well as many
plant-derived medicines. At least one-third of the
depend  upan

pollination. Bees are the most dominant taxs

world's"  sgricultural  erops
when il comes to pallination and they are erucial
to more than four hundred crops. Pollination is
an gssential service that is the result of intricats
relationships between plants and anirmals, and
the reduction or loss of either affects the survival

of both. Effective pollination requires resources,

pea-aphids in grasalanda. The number of aphids
was also significantly suppressed under the light
treatmant due to the limited amount of food
availablo. 2,

1. Which one of the following statements bess
reflects the most eritical inference that can
be made from the passage given above ?

(n)  Low intensity light hea more adverse
effect on the plants as enmpared to high
intensity light.

{b)  Light poflution can have a purmanent

adverse impact on an ecnsystom,

te}d  White light is better for the Nlgwering of
plants as compared to the light of other
cilours.

) Proper intensity of light in an ecosyetem

is importunt not only for plants but for

animals too.
|
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such as refuges of pristine natural vegetation,

Un the hasis of the passage gmiven above, the

following sssumptions have been made :

.  Sustainable production of India’s coreal
food graing is impoasible withoul the
diversity of pollinating animals.

2. Monoculturs

hampera the survival of insscts.

of horticoltural crops

3, Pollinators become searce in cullivated
areas devoid of natural vegetation

4, Diversity in insects induces diversity of
plants.

Which of the abowe assumptions isfare

valid 7

{al 1 only

{b) 2,3 and 4 only

e} land2only

i} 3 anddanly
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Pussage - 3

A study conducted on the impacts of
tlimate change over the Cauvery basin of
Tamil MNadu vsing regional climate models
showed an incresasing trend for maximum
and minimum temperaturea, and & docroase
in the number of reiny days. These climatic
shifts will have an impact on the hydrological

eveles in the region; lead to more run-off and

leas recharge, and affect the groundwater
tables, Further, there hos been an inerease in
the frequency of droughts in the Stale. This
has driven farmers to inerease dependency
on groundwater resources to secure their

Crapas,

Which one of the following statements best
reflects the erux of the passage given ahove 7

tn)  Development of regional cdimate meodols
helps  in  chossing  climate-smart
agricullural practices,

fh} Heavy dependence on gruundwah:r.

regnurees can be reduved by adopting
dry-land cropping systems.

led  Climate changes increase the ¢riticality

of water resources while simultaneously

threatening it.

ld) Climate changes canse the farmers to
adopt unaustainable livelihood: and
risky coping stratigies, -

BXC-B-GYL|

Pazzage - 4

Researchers were gble to use atem cells to
gauge the neurotoxic effects of the envirenmental
pollutant Bisphenol A (BPA), They used a
cembination of bischemical and cell-based sesava
to examine the gene expreasion profile during the
differentiation of mouse embryonic stem cells
upon treatment with BPA, a eompound known to
Ciiise heart diseases, diabates, anid
developmental abnormalities in humans. They
were able to delect and measure BPA toxicity
twwards the proper specificalion of primary girm
layers, such ss endoderm and ectoderm, and the

establishment of neural progenitor cells.

4.  On the basis of the pazsage given above, the

tollowing assemptions have been made ;
L, BPA may alter embryonic development
invivo.

2. Biochemical and cell-based assaya are
useful in finding out treatmenta for
pollution-induced diseares,

4. Embryonic stem cells could serve az a
model {0 evaluate the physialogical
effects of environmental pollutants,

Which of the above assumptions nre valid 7

1al 1 and 2 only

ih} 2 and 3 only

e} 1and3only

id} 1. Zand’d

(5—&)



BXC-B-GYL

af2 32008 w5t 10 7 Frafam fen 9w, & w7 9w
T4 7

ar 1
ihy 3
fed T

y B

HEAT 3TU8126PI60 3F 7H WiEg & | 3% P
o TR 7

ta) 1
b B
) 7T

(d} B

| wEf, 2ol B oW R omd @ WEm oW
T (v ufd wfE H) 80+ 0am B, WE
m=1,2 3, .. 1008 37 Fovm e Em R
TET T 3, A 2021 % od B S F
(v ofa ofter #), o & R oft W & T
69 + 0-15n & | @ 2021 = firm oty =1 @ A
S} 1 UF TEEEE A Y

217
20) 7E
(] 1979
18 0%

fa)

)

(d}

0.

(B-A)

U BT T I S i HEr o g
anrn R e & wEE s w12 ad
& greft 8 el ) fEr T AT % s
T ooe1 ¥ sy T e £ s 50 g |
aft o 4 & wrw F e P g Pefm
o @ &, @ P 8 5 sk
FefiETm, w1 E WA T MEE F A %
et i g 2

P =12 + fin

P=0i+12n

P = 50 (2120

P = 50 (1

wF e #, eow R wnm & & s Renfd
1 505 wr=feal £ | i wnsty il § aos
war &, @1 et TEntdst § e wfee
TEE B 7

) A

iy 40%

ey OO%

idl 0%

e Fae AR o 2, B e Freea

e Fsed. 1T B e # | st 56 R T A

U Y W I S R, we A 9 A

= § oW e S 8w el A w oA

Tt ® T ¥R oAeram fole W=

s Ema P fm s s

Sl R e e I | G

=it g & @ A E

ey ;@ A, AEme & | ' A,
ol & | 0 RO, T8 E

frepyy . o e B smaadt 3

Frersr . 3o qene AEE T 8 99 E

FreAforfian 1 & ==-m wdl § 7

(g) hEE eI

b e Ll

(o) S st T g 6

@y A A frsen 3 8 P

Las
(k)

tc)
id}



BXC-B-GTLI

If 3% iz divided by 10, then what is the
remainder T

el 1
by 3
e} 7
d) 9

The number 3TH81Z6F369 is diviaible by 7.
What is the value of the digit P 7

(n) 1

(b &

-

dr 8

From January 1, 2021, the price of petrol
iin Rupees per litre) on mt® day of the vear is
1.2, 3 .., 100 and
thereafter remuins constant. On the other
hand, the price of diesel {in Rupees por litre)
on 0™ day of 2021 is 69 + 0-15n for any n. On
which date in the year 2021 are the prices of

& + 0-lm, whire m =

these two fuels equal ¥ |
fa) 21" May
thy 20" May
() 19" May
dr 18" May

10

(T —A)

A biology clara at high school prodicted thal o
Incal population of animol: will double in size
every 12 wears, The populstion at the
heginning of the vear 2021 was eatimatad to
he 50 animals, IF P represents the population
after n years, then which one of the falloering
equations ropresents the model of the class far

the population ?

a) P =12 + 6ln
by P=0(0+12n
(e} P =50{2%0
(d) P=Bo(@E

Im & cluss, 60% of studenta are from Tndia and
% of the studenis are girls, IT 30% of the
Indion  studenta are girls, then what
percentage of foreign atudents arc boys 7

ln)  45%
by d0%
(e} A0
id) 20%

A Stalement followed by Concluzien-I and
Conclusion-I1 12 given below, You have to take
the Statement to be true even if it seeme to be
al variance from the commonly known facts.
Rend all Conelusions and then decide which of
the givon Conclusion(s) logically follows/follow
from the Statement, dizregording the

commenly known facts.

Statement : Some radios wre mobiles. All
mobiles are computers. Some
computers are watches,

Certainly - somve  ridies  are
watches.

Coeeliesion-T

Certainly zome mobiles are
watcher,

Which one of the fallowing is correst 7
fal

Concluson-I1

Oaly Conclugion-T

(b Unly Conclugion-TT
e} Both Conelusion-T and Conclusion-11
td)  MNeither Conelusion-1 nor Conelasion-11
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Directions for the following 4 (four) items :

Read the follnving four passoges amnd anawer the
ftemis thot fallow. Your answers fo these iteme should

be boged on the poseooes only.

Passage =1

Fig lrees (genus Flous) arg  considered
suored i Todis, East Asia and Africs and are
commaoen in o ggricultural and wrban londscapes
whore othier large Lees are. absent. In oaturel
forvsts, g trees provide food for wildlife when
other ressurces oy zcaree and support a high
density and diversity of Trugivores {fruit-eating
apmils), IF rugivorons birds and bats continue
1o visik fg brees Tocated in sites with high human

disturbarniee,
frugivore

spered fip trees may promote

abundance, Linder favourahle

migraclimate, plenty of seedlings of other tree
sperigs willd grow around g trees,

11. ©On the basis of the pasaage given above, the
following assumptions have been made :
L Fig treed can often be keystone species
in natural foreats.
2 Fig trees can grow where other large
woody Epecies cannot gros.
a. Bacred trees ecan have a ele in
bisdiveraity conservation.
4, Fig trees have a rmle in (he seed
diapersal of other tree species,
Which of the above aszumptions isfare
walid ¥
tal 1 and 2only
(b} 3 ondy
el 2 und 4 only
ey 1,5 and 4 enly
BXC-B-GYLI (9-

Passage - 2

Al fhe hearl of pgroccology i the idea that
peroecosyvatems  chould mimic the biediversity
lewels ond functisning - of natural  ecosvstems.
Buch wgricultural mimics, like their natural
models, cen o be

nutrient conesrving, and resilient to shocks and

productive, peat-resiatant,

stregses. In  ecoeystemna there is no “waste’,
nutrients are recveled indefinitely. Agroecology
aima at closing nutrient lnops, ie., retorning all
nutrients that eame out of the soil back to the seil
auch as through application of farmyard manure,
It alan hamesses natural processes to centrol
perta build sold  ferlility  iw., through
intercropping. Agroccological practices include

anl

integrating trees with livestock and crops,

12. Congider the following

o Cover crops

2. Fertigation

4.  Hydroponies

4. Mixed farming
5 Tolyeulture

6. Yertical farming
Which of the ahove farming practices can be
compatible with agroecelogy, as implicd by the
passage 7
() 1,4 and &5 only
ihy 2,8, 4 and & only
e 1,8, 3 and 6 only

(F 4 and & url'l__:.'

A
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Passage -3

Computers incressingly deal not just
with abstract dsta like credit card details
and databases, but also with the real world of
physical ohjects and vuloerable human
bodies. A modern car is a computer on
wheela; an aeroplane iz a computer on winge.
The arrival of the "Internet of Thinga"” will
soe computers baked into everything from
road signe and MEl scannera to prozthetics
and insulin pomps. There i little evidence
that these pgadpeta will be any more
trustwrorthy than their desktop counterparts.
Hackera have already proved that they cun
take remote control of internel connected

cars and pacemakers.

13. ‘Which one of the following statements besé

reflects the mosi eriticol inference that can
be made from the passage given above ?

i) Computers are not completely safe.

it Companies producing the software de
not lake cyber secarity seriously.

e} Biringent dwts security laws are needed.
(d) The present trend of communication

technologies  will affect our lives in

Pagsage — 4

A soctal and physical environment riddled
with poverly, ineguitics, unhygienic and
inganitary conditions generates the sk of
infectious diseases. Hepiene has different levels :
peraonal, domestic and community hygiene.
There is- no doubt that peraonal cleanliness
brings down the rate of infactious diseases. But
the entry of the market into thiz domain has
created a false pemse of gecurity thot gels
conditioned and reinforced by the onslaught of
advertisements. Experience in Western Europe
shows that aleng with personsl hyvgieny, general
improvementa in environmenisl ceoditions snd
cnmponents like clean water, sanitation and food
zocurity  have brought deen  infant'child
deathfinfection rates considerably. The obseasion
wilth hund hygiene slec brings in the persisting
influenee of the market on peraonal health,
ovirriding or marpinalising the negative impagt
on ecology and the emergence of resiatant germs,

14, Om the basiz of the pussage given above, the

following assumptions have been made :

1. People who are obeessed with personal
hygiene tend to ignore the communily
hygiens,

2,  Emergenes of multi-drog resiatant germa
cun be prevented by peraonal eleanliness,

3. Entry of the market in the domain of
hygiene increasea the risk of infeclious
direrses,

4. Beientifie and miero-level interventions
are not sufficient to bring down the
burden of infectinus dizseazes,

6. It 13 community hygiene implemented
through public health messures that is
really - effective in the battle against
infectious discasos,

Which of the above azsumption: are valid ?
tad  land 2 only

(ht  Jand 4 only

¢} 4 und 5 only

id} 1,2 and4enly

(11-A)
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16.

16,

LT,

A Stetement fellowed by Conclusion-I and
Concluston-IT is given belew, You have to take
the Statement to be trae even if it geema to be
gt vanence from the commondy known facta.
Read oll Conclusions snd then decide which of
thio piven Conclusionis) logically followsfollow

from the Statement, disregparding the
commonly known facts.
Statement ; Some catz are almirahs, Some

almirahs  are chairs.  All

chairs are tahles,

Certainly some almirshs are
{ables,

Conefygion-I

Conelsion-IT ;
Which one of the following is correct. ?
(a} Only Conclusion-1

Some cats may not be chairs.

(b} Omly Conelusion-T1

icl  Both Conclusion-T und Conclusion-I1
(d) MNother Conclusion-1 nor Coneluzion-T1

A boy pliys with s ball and he drops it from a
height of 1:6 m. Every time the ball hits the
ground, it bounces back to afttain a height
459 of the previous height. The ball does not
bounce further if the previous height is lesa
than 50 cm. What iz the number of times the
ball hits the ground before the ball stopa
bouncing ? '

{a] 4
L
el 6
¥

Imagea of consonants of the English alphabet
(Capitalz) are obaerved in a mirror, What is
the number of images of theae which do nod
look like their oniginal shapea ¥

a} 13
(bl 14
() 16
{di 16
BXC-B-GYLI

18.

19,

20.

[13-8)

A bank emploves drives 10 kn towards South
from  her house and tuens to her left and
drives another 20 km, Bhe again turps left and
drivea 40 km, then she turns to her right and
drives for another § km. She sgain turns to
her right and deives: another 30 km to reach
her bank where she works, What is the
ghortest distance between her bank and her
hawse 7

fa)  20)km
thy 20 km
&) 30 km
d} 35 km

Integera are listed from 700 to 1000, In how
many integers is the sum of the digits 10 7

ey 6
thy 7
el R
dr 8

A& wooman runs 12 km towards her Norh, then
fi km towwards her South and then B km
lowards her Baat. In which directivn 18 she
from her starting point ?

fal  An angle less than 46° South of East

(b}  An angle less than 45° North of East
(el Anangle moree than 45" South of East

{d]  An angle more than 45° North of East
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DMrections for the following 4 (four) iterms

Roid Hie following fowur posstages and anzwer the ,;
tems thiat follow. Your answers to these items shoula i

he haged on the poszages only.

Passage -1
India faces a challenging immediate future

in energy and climate policy-making. The
problems are multiple | sputtering fasil fuel
production  capabilities; arcess o
electricity and modern cooking fuel for the
pooreat; rising fuel imports in an unstable ginbal
energy context; continued slectricity pricing and
governance challenges its  onstly
deficits or surplus gupply; and not leaszl, growing
environmental contestation around land, wator

limyited

leading  to

and air, But all ia sot Bleak: growing energy
efficiency programines; integrated urbanisation
and transport policy discussions: inroads  to
enhancing energy acceas and securily; and bold
renswable energy initiatives, even if nol fully
paggest  the

conceptualised, promise  of

Lramsinrmation,

21, Which one of the lllowing statements best
reflecis the eritical messoge conveved by

the paszage given above 7
()

i VT Mo complex and
interconnected.

(b) Indis's energy and climste policy is
heavily tuned to aurtainahle
development goals,

(e} Tmdia’s energy and ¢limate actions are
not compatible with its broader social,
economic and environmental gonls,

(di  India’s energy decision-moking proces:

ia atraightforward supply-oriented and

ignores the demand zide.

BXC-B-GYLI

India’s encrgy decision-making procesa

a2,

(15— A)

Passape - 2

There are reports that zome of the
antihiotics sofd in the market are fed to
poultry  and  other Tlivestock as  growth
promobers, Overusing these substunces cun
ereate  superbugs,  pathopens that are
resigtant to multiple drugs and couold be
passed slong humans, Mindful of that, some
farming companies have stopped using the
drugs to male chickens gain weight faster,
Hince Denmark banned antibiotic growth
promoters: in the 19%90s, the major pork
exporter gays il iz producing more pigs —

and the animals get fewer diseases,

Which one of the following statementa fest
reflects the crifical messoge conveved by

the passape given above ?

(al  People should aveid consuming the
products of animal farming.

bl Foods of animal origin should be
replaced with fonda of plant origin,

fe}  Using antibietics on animale should be
hanned,

di  Antibietics ghould only be used to treat

dizeazes.
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Pussnge = 3

Policy makers and media have placed the
blame for skyrocketing food prices on a variety of
factors, inchading high fuel priees, bad weather in
key food producing countrics, and the diversion
of lond to nonfood production. Inereased
emphasis, however, has been placed on a surge in
demond for food from the mest  populous
smurging economies. It seems highly probable
thul mass consumption in these countriea could

b wull poised to create a food erizis.

23, With reference to the above passage; the

following arsumptions have been made :

1, Ol producing countries are one of the

reasona for high food prices.

= If there ig a fosd crisis io the world in
the mnear futore, it will be in  the

CIerging economies,

Which of the abive assumptions isfare

valid ?
{al lonly
b} Zonly

ic) Buoth 1and 2

(dy  Meither | nore 2

BXC-B-GYLI

(17 =A)

Passage -4

A central message of modern
development economics is the importance
of income prowth, by which iz meant
growth in Gross Domestic Praduct (GDF).
In theory, rising GDP ereates employment
and investment opportunities. As incomes
grow in a country where the level of GDP
was onee low, households, communities,
pnd governments are increasingly able to
wol azide aome funds for the production of
things that make for a poed life, Today
GDF has assumed such a significant place
in  the deselopment lexiconm, thet if
someuns mentiong “economic growth”, we

know they mean growth in GDE.

With reference to the above passape, the
following assumptiona have been made :

L. Rising GDIP is essential for & country to
be a developed country,

2. Riging GDP* guaraniess a reasonsble
distribution of income to all houaeholds.

Which of the shbove assumplions isfare
valid ?

ial 1only
(hy 2 only
(e} Both 1 and 2

idy  Meither 1 nor 2
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a2 | 20625 |

0 | Is

‘_:ﬂam-r: l8]a]6]15
AFNIl: 5| A|R|C

4]

H{EH-11 F 90 O3 T ou s wiafe R o
al  2-h

(bi &

e} 8375

(d) 328125
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25. Seven booka P, 0L R S, T, U snd V are placed gﬁi
side by side. R, @ and T have blue covera and
other books have red covers. Only 3 and 17 are
new booka and the reat are old. P, K and 5 are
law reports: the rest are Gazetteers. Books of
old Gazettesss with blue covera are
i} Gamd R
hy Gandl
et QandT
(di TaodU

26. Replace the incorrect term by the correct term
i Chie g:i'l.-'{‘:r'l BECpLITICE

4,08, 74,13, 10,21, 18, 31, 28,43 40
where odd terme and even torms fellow the
same pattern,
lal 4
6 |
el &

6
27. Following is a matrix of certain entries, The
entried fnllow a eertain trend row-wise, Choose
the missing eniry {7 accordingly,
| 1A | ac
a0 aH BA
Hih: | BN

la} 4B

(b) 3JA

(el 3B

(d} B

2B, You are given two identical sequences in two
FOWE
Sequence-I; [ 8| 4| 6 16 | 525 | 253625
Bequence-IL: | 5 E‘E cC| D -l
What iz the entry in the place of O for the
Sequence-117
ia} 20
thy B
L b
id) 328125

BXC-B-GYLI {19-A)

A person X from a place A and snother person
Y from a place B set out at the rame time to
walle townrnds each other, The places are
separsted by &8 distenee of 15 km.
X walke with g uniform speed of 1-5 kmvhre
and ¥ walks with a uniform spoed of 1 km'hr
in the first hour, with a oniform speed of
126 km'r in the second hour and with a
unitorm speed of 16 koo/hr in the third hour

and s0 on.

Which of the following ir'are correct ?

1. They take 5 howrs to meet,

2 They mest midway between A and B,

Select the correct answer using the code given
below ;

{w) looly

{b)  2only

{t) Bothland2
(d) Neither 1 nor 2

A student  appeared

maximum marks are the game for each paper.

in & papers. The

His marks in thess papers are in the
proportion of 52 6 7 0 & 80 10, Overall he
seored G0%. In how many number of papers
did he score less than 60#% of the maximum
murks 7

) 2
by 3
ey 4
d) 5
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Mrections for the following 4 (four) Hems ; Passage - 2

Head the follmeing fowr possoges and amswer the It is certain, thal seditions, wars, and

tterma that follow. Your answers fo these items shouwld | sontem ptor bhreach of the laws are not so much

b ek o F s aniy to be imputed to the wiskedmess of the mbjects,
as to the bad state of & dominion, For men are
Passage — 1 not born AL for citizenship, but must be made 0.

Besides, men's natural passions are everywhers
With respect to what are callod
the same; and it wickedness more prevails, and
denominations of religion, if everyong is lef

: more offences: are commitied  in  one
to be a judpe of his own religion, there iz no
ommonwealth than in another, it is certain

Sy tuies e e tion: Wal. de-terauigs bup 1 thut the former has neither enough pursued the

they are to he a judge of each other’s end of unity, nor framed its laws with sufficient

religion, there is no such thing as o religion forethought; and thal, therefore, it has failed in
that ia right, and therefore oll thy world is making quite good its right us o commonwealth.
right or all the world i5 wrong in the

matter of religion.
32, Which among the following is the mos!

fogical and rotional inference that can be

Y. -
31 What 15 the most logical assumpfion thal TA: kv 116 passage e abovE ]

can be made from the passape given above ? tu}  Seditiens, wars and breach of the laws

are inevitable in every dominion.
(al No man can live without adhering to x: =

som religous denominstion, (bl It is not the people, bul the sovereign

who ie respanaihle for all the problems of
(b) It iz the duty of everyone to propagate

one's religious denomination,

any domininn.

{e)  That dominion is the beat which pursues

te}  Religious denominations tend to ignore the aim of unity and has laws for good

the unity of man, Stimssatiiz

td)  Men do not wnderstand their own (dy It is impossible for men to establizh a

religious denomination.

good dominion,

BXC-B-GYL (21-A)
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Passage -3

Inequality violates & basic democratic norm :
the equal standing of citizens. Equality is a
relation that ohtains between perrRons in respect
of aome tundamental characteriatic that they
chere in common. Equality i3, morally speaking,
a defsult principle. Therefore, peraons should not
be discriminated on grounds such as race, caste,
gender, ethnicity, disability, or class. These
features of haman oobdition are  morally
irralevant, The

peraong with respect nnt only because seme of

idea that one zhould Lreat
these persone possess some special features or
talent, for example akilled erickelers, gillod
mueiciang, or literary giants, but because persons
are  human

beingg, & by mnow part of

commongense marality,

3. With
fallowing assumptions have been made

reference (o the above pessage, the

1. Eguality is o prerequisite for people to
participate in the multiple transactions
of society from a position of confidenca.

2. Deourrence of ineguality is detrimental
tr the survival of democracy.

3. Equal standing of all citizens is an idea
thut cannot actually be realized even in
 demoeracy.

4, BRight to equality ahould be incorporated
inte our values and day-to-dav political
vorabulary.

Which of the above assumptions are valid ?
fa) 1 and 2 only
(bl 2 and 3 anly
il 1anddanly
(d} 3 and 4 anly

BXC-B-GYLI

Passape - 4

Aristocratic government meng itself by
limiting ton narrowly the circle within which
power is confined; oligarchic government ruins
itaelf by the seramble  for
immediate wealth, Bul even democracy ruins
itzelf by excesz ol democrocy. Tis  base
principle is the equal rght of all to held office
and determine public policy. This is, at first

ineaukiouns

glanee, o delightful srrangement; it becomes
disastrous because the people are not properly
eipiipped by education to select the beat rulers
und the wizest courses. The people have no
understanding and only repeat what their
rulers are pleased to tell them.

demoeraey i8 tyranny or aulnoracy,

Such a

— Plato

44. Which one of the following stolements bes#

reflects the orux of the passage given ubove 7

xperiment  with

different forms of governments.

ial  Human seeietios

(b  Any form of povernment tends to
deteriorate by excess of its  basic

principle,

[z _Eduuut:iun af all eitizens ensures §
perfect, functional
demweraey.

and  sustainable

td) Having o guvernment 18 a necessary evil
becauae tyranny iz inherent in any form

of government.

(23-A)
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85. In a group of 120 persons, 80 are Indians and
rest are foreigners, Further, 70 persone in the
group can speak English. The number of
Indiang who can speak English is
tm) 20
{hl 30
(¢l 30 orless
(d) 30or moro

28, (onzider all  3-digit nombers  (without
repetition  of digits] obtained using three
nen-zero digits which are multiples of 3, Let 5
be their sum.

Which of the following is‘are eorrect ?

i = ia always divizible by T4,

2, &is always divizgible by Q.

Belect the correct answer uging the code given
beelowr ¢

(@l 1only

bl 2anly

(¢ Both 1 and 2

(d} Weither 1 nor 2

87. There are two Classe: A and B having 25 and
) atudenta respectively, Tn Class-A the
highest score is 21 and lowest seore ia 17. In
Clpss-B the highest score is 30 and lowest
geore iz 22 Four atudents are shifted from
Class-A to Clasa-B.

Consider the following statemenis |

I The  average score of Class-BH  will
definitely decrease.

B The average score of Class-A  will
definitely increase.

Which: of the above statements isfare

coreect 7

ta)  1only

(k) 2 only

i)  Both 1and 2

(d}  Meither 1 nor 2

BXC-B-GYLI

{25-A)

Conaider two Statements and a Question :
Srgtement-1: Priga ia 4 ranks below Seema
and ig 31* from the hottom.
Benterment-2 ;. Ena is 2 renks above Seema
and is 37% from the bettom.
What 15 Seema’s rank from the
top in the class of 40 fudents 7
Which one of the following 1 eorriecl in respect
of the Statements and the Gueation 7
(al  Statement-1 along iz not sufficient to
anewer the Guestion
by Bwnlement-2 alope is not sofficient to
angwer the Guastion

Elepstion

{e)  BEither Slatement-1 alone or
Btatement-2 alone is aofficient to
answer the Buestion

id} Both Statement-1 and Statement-2 are
required to answer the Question

Conaider two Statements and a Guestion :
Sinternent-1 ¢ Kach of A and Td is heavier than
each of B, E and F. but none of
them iz the heavieet.
Qtatement-2: A 14 heavier than D, but is
lighter than C.
Gheestion ! Who is the hesviest among
APRCDandE?
Which one of the fallowing is correct in respect
of the Statements and the Guestion ?
(a) Statement-1 alone iz sufficient Lo
answer the Ghestion
by SBtatement-2 alome iz suflficient to
answer the Guestion
ie)  DBoth Statement-1 and Statement-2 are
required to answer the Question
il MWeither Statemont-1 alone  nor
Statement-2  glone i3 sufficient i
answer the (Jueation
In the English alphubet, the firat 4 letters are
writien in oppoaite order; and the next
4 letbers are written in opposibe order and so
on; wnd at the end ¥ and & are interchanged,
Which will be the fourth lettor to the right of

the 194 Jetter 7

g1 W
by T
el H
dy 1
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Irections for the following 4 (fewr) iems :

Read the follmoing fouwr passaoges and anzwer the

iterns that follow. Your answers fo these ttema should

Tt Birgedd on the possiges only.

Passage — 1

Mothing can exipt in a natural state which
¢an be called good or bad by common agssent,
ginge every man who ig in & natoral state
consults only hiz own advantage, and determings
what 13 good or bed sceording to his own fanicy
wnd insofar s he has regacd for his oown
advaniage alone, and holds himsell responstblo
1o o one save himsell by any low; and therefore
sin connet be conceived in o natural state, but
only in a eivil state, which is decreed by common
consent what is good or bad, and each one holds

himaelf responsible to the state.

41, Which one of the following statements best
reflects the central idea of the passapge

given above 7
fa} The conceptiona of what ia right or

wrang exat due to the formation of a

atate.

(b} Unleea a ruling autherity decides as to|
what is right or wrong, no man woald he
morally right.

{el  Man iz inherently immoral and eelfish
in a natural state.

tdl  The ides of what i3 right or wrong is
necessary  for the survival of homan
BRECIES,

BXC-B-GYLI

Passage = 2

In the immediate future, we will ses the
increasing of many new
technologies — artificial intelligence and robotics,
a0 manufacturing, custom made hiological  and

oommodification

pharmaceutical  products,  lethal autenomaus
weapens  and  driverless carz, Thizs will pose
conundrums,  The ‘miors]  gueestion of heow &

driverless. car will decide between hitting o
Juvwilker pnd swerving and domaging the cir has
often boen debated, The answer is both simple —
save the human life — and ‘complex. At which
angle should the car awerve — just enough to save
the jaywalker or more than enough ? If the
driverless car is in Dublin, who would take the
decizion ¥ The Irish Government, or the car's
original code writer in California, or a software
programmer in Hyderabad fo whom maintenance
ia putanurced ? If different mational jurisdictions
have ditferent fine print on prioritiziog. a homan
life, how will it affeci ingurance amd investment
decizions, including transnational enes 7

42,  Which of the following stolements best reflect
the raffonal, plowsible and  procticod
implicafions that can be derived from the
pagsnge given above ?

1.  Too much globalization is not in the beat
interests of any country.

-3 Modern  technologies are increasingly
hlarring the economic berders,

3. Innovalion ond eapital have impinged
on the demuin of the State.

4,  Public policy of every country should
focus on  developing its own aupply
chaina.

B Geopolitics will have to reconcile o
miany ambiguities amd unecriaintios,

Select the correct answor using Lhe code given

Do

2l 1,4 und 6 only
(b1 1,2 3 and 4 only
{e) ¥ 3dandbonly
dl 1,2 3 4andb

(27-4)
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Pussage — 3

The resclution of bankrupicy cases of Indian
banks under the Insolvency snd Bankruptev
Code should belp bring non-performing. asaets
(MPA) situation under some control, Despite the
glow pace of resolutions by the National
Company Law Tribunal, the Code can be helptul
in clesning up bank books in future credit oveles,
Thy recupitalisation of public sector banks ton
ciati help increase the capital cuahion of banks
pnd induce them to lemd more and  boost
ceonomic activity. But bad debt resolution and
recapitalisation are only a part of the solution us
they, by themaselves, can do very little to rein in
reckless lending that haa pushed the Indian
banking system to its current sorry state, Tinless
thery are systemic reforms that address the
problem of unsustainable lending, future credic
eveles will continue to stresa the banking system,

43. Which one of the following siatements best
reflects the most logieal, rotionoad ond
implied by the

prociical  sugoestion

passage given above ¥

lal  Lending by the hanka should be closely

monitored and regulated by the Central |

Govrernmend.

{b)  Intereat rates should be kept low 30 83 o
induce banks: te lend more, promote
growth and thereby

ECOTDIIC aetivity,
Merger of many banks into s few large
banks alone ig the long-term solution to

make them viable and prevent their bad

Indisn  banking
siructural reforms as @
solution for bad leans problem,

credit hoost

(3]

icd} gyatem

long-term

BXC-B-GYLI

required |

44,

(29-4)

In Indiu, the objective of macreeconomic
policy 15 to enhance the economic welfare of
the people, and any one wing of such macro

policy, mnnetary nr Nzeal, et
independently work withoul active suppoert of

anathar,

Which one of the following statements best
reflects the corollary to the parsapge given
above T

The  ventral bank worlk

L cannal

independently of the Government,

bl Government should regulate financial
markets and inatitutions clesely,

ted  Market economy 15 not compatible with
the aocialiat policies of the Government.

id) Finaneial asctor reforms are required for

enhancing the essonomic wellare of the

puople.
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dy D
46, Half of the villagers of & certain village bave
their own houses. One-fifth of the villagurs
cultivate paddy. One-third of the villagers are
literate, Four-fifth of the villagera are under
26 vears of age. Which one of the following
gtatements is certuinly correct T
ia)  All the villagera who have their owmn
houees are literate.
ib) Some villagera under 25 vears of age are
literats.
ic} Omnly half of the villagers who cultivate
paddy are literate,
(d) Mo villager under 25 years of ape hae his
e houss,
47, Consider two Btacements and a Guoeation :
Staternent-1 s The last day of the month is a
Wednesday,
Statement-2 : The third Baturday of the month
was the seventeenth day,
Guestion - What day is the fourteenth of the
given month 7
Which ong of the following 1 correct in rezpect
of the Statements and the Guestion 7
(n) Staternent-1  alone s sufficient  to
nnswer the Question
tb) Statement-2 alone 15 sufficient Lo
anawer the Question
(c) Both Statement-1 and Statement-2 are
required to anawer the Question
(d) Meither Statement-1 alone nor
Statement-Z  alone g aufficient  to
anawer the Question
BXC-B-GYLI [31-

Consider the following Tuble
| Runs | Balls | Runs [Balls faced
meored in. faced in | soorvd in | inthe
(Plager the Firat che Firet the Second) Second
Innings | Innings | Innings | Innings |
A Al s 14 | 78
B 15 12 Al &5
C 15 T 20 al
D 13 7] 12 il

Who iz the fastesi run seorer in the 'lest
Match ¥

Al

Which day is 10™ Octoher, 2027 ?

(a) Sunday
ih}  Monday
ey Tueaday

idl  Saturday

Consider . two  Statements . and  four
Conclusiona given below. ¥ou have Lo take (he
Statementa to be true even if they seem o be
al. variance feom the commonly known facts.
Road all Conclugions and then decide which of
the given Conclugionis! logically fellowafallow
from the Statements, dismegarding the

cornmonly koeen fncts,

Statement-1;  Some proens are blues,
Statement-£ ;  Some blues are blacks,
Conelusion-T ; Some greens are hlacks.

Concluzion-2 : No greenis black.

Conclusion-3 ;. All gresna are blacks.

Cronelusion-4 ; All hlacks are gpresns.

Which ane of the following ir correct ¥

() Conchizion-1 and Conelugion-2 only
by Conclusion=2 and Cenelusion-3 only
ey Conclusion-3 and Conelusion-4 only

i) Meither Conclugion 1 nor 2 nor 3 nor 4

What = the value of W in the segquence

5.7.92 87,202, X, 18227

far  B0A
thl 605
Lol BOT
() B08
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Directions for the following 2 rhwo} Hems ; I

Rewd the following two possoges aond aonewer the
termg that follows. Your answers to these dema should
b bopsed on the pazsages only.

Passage -1

The hest universities like Harvard and MIT,
despite having the luxury of having seme truly
excellent teacher: on their payroll, are
mcreasingly embracing the “fipped classroom™
formet, whers students listen to video lectures at
home, and spend closs time spplying their
knowledge, solving problems,  discussing
exampler, ete, Professors guide that dizeussion
and fill in wherever necessary, explaining those
bits that seem Lo be eluding the atudents und
throwing in advanced ideas that happen o be
topical. These universitios have made their video
lecturea available free for anyone in the world
They are also encouraging colleges  snd
univeraities all over the world to integrate Lhese
online eourses into their own pedagogy, picking
the pieces thal wre appropriate for their needs
and huilding # package around them,

81. Which one of the following statements best
reflects the central idea of the passape
given above 7
(d} EMeacy of univeraities would be betoer

in online mode of conducling classroom
tuition ar eompared to conventional

g method.

(b} Availability of higher education can be
made easier and cheaper without
diluting the content,

el We need not  invest muoch  in
infrastructure  related 1o higher
education and yet develop better human
and social capital.

td)  Private sector institutions in higher
education as well as enaching institutes
can take advantage of thia opportunity
and thrive well,

Passapge - 2

Oar vities are extremely  vulnerable ta
climate chanpe because of large concentrations of
populations and poor infrastructure. Moreover,
population densities are increasing in them but
we have not yet developed the svstemes to addreas
climate change impactz. Our cities contribute to
65 per cemt of the GDF, but there are not enough
farilities to cater to the needs of the people. It ia
in.IpurtEIILt to addrezs the issues of air quality,
transport, etc, that are vital to identifving
sugtainable solutivne. We need to invelve cilizons
in city planning and create an ecosystem that

meets the needs of the people.

53. Which among the following is the most

logical and rational inference that can be
made from the passage given above ¥

(n)  Our cities need to have well-defined
administrative set-up with sufficlen

watonomy,

hi  Ever increasing popalation denzities is n
hindrance in our efforta e achieve

rustainable development.

e} To maistain and develop our cilies we
need to adopl sustainability related
interventiona.

(d?  Public-Private Partnership mode of
divelopment i the viable long-term
selution for the infrastructure snd

sustainnbility problems of Tondia.

BXC-B-GYLI (g LK
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a3. Jay and WVijuy spent an equal amount of | 57.
maoney 1o buy some pena and special pencila of
the same quality from the same store. If Jay
bought 3 pens and & pencils, and Vijay booght,
2 peng and 7 pencils, then which one of the
following is correct ?

{al A pencil costs more than a pen

{b)  The price of a pencil i3 equal to that of a
pen

fe)  The price of a pen iz two times the price
af a pencil

{d} The price of a pen is three times the
price of & pencil

54, P peored 40 marks more than € in an
examination. 1f G seored 10% less marks than
P, then how much did § score )
(@) 360
(h} 380
(el 400
dl 430

53. A peraon P asks one of his three friends X us
to how much money he had. X replied, “If ¥
gives me T 40, then ¥ will have half of as
much as Z, but it £ gives me T 40, then three
of we will have equal amount.™ What i the
total amount of money that X Y and 7 have 7
fal T 420
by ¥ 360
(e} T 300
dy T 270

B66. In a code langooge ‘MATHEMATIOS s
written as ‘'LESIDNZUHDR. How is
'CHEMISTRY" writter in that code languape 7
18] DIDLHESEX
thy BIDNHTSSX
(] BIDLHTSSX
Wl DGFLIRUQZ

BXC-B-GYLI (35 -}

Al which one of the following times, do the
hour hand and the minute hand of the clock
make un angle of 180° with sach other 7

tal AL ;0 howrs

thy  Between 7:00 hours and 7:06 hours

(el At 705 hours

{d} Betwoen 7:06 hours and 7:10 hours

In an ohjective type test of 90 questions.
& marks are allotted for evory correct answer
and 2 marks are deducted for every WIUnE
anawer. After attempting all the 30 questions,
a student got a total of 387 marks. What is the
number of incorrect responses ¥

fa} 9

13
c) 27
d) 43

Consider the following addition problem -

dF = 4P + PP + PP = RQ2; where P, @ and R
are different digits,

What is the arithmetic mean of all suach
pozsible aume 7

{a) 102
ihy 120
le) 202
d) 220

Conaider  the
prohiem

(PR % 3=RQQY, where P, @ and R are
different digits and R = 0,

What ia the value of (P+R) +Q 7

following  multiplieation

ar /1
h: 2
ey B

@y Cannod  be
inaufficient dats

determined due T



ferfeafam 2 (31) srare % fer g -

v fBr aw g wieds ® Tew AN v ® A
T T W & 3T Sfaw ) 5o % o
U I dEe I weed W & AT me

e |
girsEs - 1
I R FEET S Oue % hedEad
e T Il e T e
AR 9T W TE PR W w7 oan wR
A % d| dAFHRED e e R | TR

AT (d1) % g w e 96 =, |

ST T ity § 2 B | S S g iAo
o %, a® Taeh ufAW, W, SU-9h a9 o
it i = e gt Pl w7 | A =R
poi e e T T T R
| TOTE % T uEEE ° Fw o d 39 o B,
ik, e =T = oH s o e E e
s & FE T W &, Ay ° fh | R wl
= ATE: W T A f S TR e i
e gl wiwe fastag w0 8 FrR |ug e
% | = el gfaw = weyE A S o
A % W 8, fHq ddEm wEwmoE
TR W w w R

g1 T diee % o H, Fefeles e

EH'IﬁTIE-i.-

¥ mife 4 FEgERR TR 64 W |

EXC-B-GYL

9. HEEE & WAED e % fan amEves
T T AfE W ATAR g | R

a, e fawm § 99 g oA F e
STl T = HETEEA 7 |

Tofw § # e gEhymEqEennd g

BT

fn) AH 1 #HT 3

ihy ad 3

(¢} hEE 2 WA 3

il 1,23R 3

ez -2

et faemedl B, WM oWHW W=l #
witfareht, nf s sfimm A B TE A §e
5 2, 7% o 4 e 5w e £ TR A
vl B | feg 0 B9 3 oW 8 AR )
wH el wifey #) wEawe e A, w i
F w4 foel W oo W A gl %
zmfort % &, wiEeme % of deEAEe
(dm BfERES) F an 4, Fees F e 8
Fafrremams &t gwE, o & = | Ten @
# v o 35 ) weE § T W w0
e F T 3R, s 3% HEw R
T AR WAH 4B W K OFEm a2 0
e W wEA () o ® e,
samE &, /el = w1 et
£ I g 1 wen/ar 8 == A fae,
gyl oA Tt & g2 0 =8 T
# | 9= wwET IES TOW wEgEl W ORI R,
f g 9Ee ok e wER WA % fom
ErteaiEa fmm mm &

1. sfeh S e ) W w ey |62, Pl & & S e I e %

F fram =1 @FO w9 & A 8 7

(a)  faererft oromwn == 3l wfroEeRl S
el ¥ e T R

b S IeeieE W EE 3 8§ e e
e & fem & fom o foeter &

(o) Wl o A APNEE W % o AW
o, T oswerm o Tl SR
e |

() wEe arieE = % Tom, sdue o
e figw Tmmam  wfaie,
o o Hea-mmas FiEe &) ot W
= 2 |

{3B—A)



Directions for the following 2 (fwa) items
Read the following froe pessages and gnsier $he

Hemys thot follow. Your answers #0 these llems should
he bosed on the passarez anly,

Passage - 1

Can a demoeracy nvoid being 8 welfare state
for long ? Why cunnot mass welfare he left
entirely {0 the markets 7 There i a huilt-in
tension  between  markets and  democracy,
Markels do not work on a one-person-npe-vobe
principle as democracies do. What one gets out of
the markel place depends on one's endowments,
skills, purchasing power and the forces of
demand and supply, Marketa reward individual
initiative and skill, and may also lift many from
the bottem rungas of society, hul some people
never get the opportanity to develop skille that
tniarkets demand; they are simply (oo poor and
oo handicapped; or skill formation takes too
long. By creating jobs, markets may be able to
help even unekilled people, but capitalism has
ilways witnessed bursta of unemployment.

81. With reference to the above passsge, the
fullowing asrumptions have been made :

1. Modern democracies rely on the market
forces Lo enable them to he welfare
etates,

2. Markets ensure sufficient economic
growth necessary for democracies to be
effective,

3.  Government programmes are needed for
those fell behind in econamic growlh,

Which of the above assumptions isfare
walud 7

{al land3 only
tby 3 only

(e} 2 and 3 only
() 1.2and3

BXC-B-GYLI

Passuge - 2

In our schools; we teach our children all thal
% there to know  about phyeies, maths and
history and what-have-rou. But do we tesch
thom sbout the hitter caste divide thuat plagnea
the country, about the spectre of famine thet
etalles large parta of our land, sbout gender
sengitivity, about the peesibility of atheism as a
choiee, ete, T Byually important, do we teach
them to ash questions, or do we teach them anly
to pazgively receive pur wisdom ¥ From the
cocooned  world  of achool, the
adalezcent finds himselffherself in the unfettored

suddenly,

world of university. Here hefshe is swept up in a
turmoil of ideas, infloences aml ideologies. For
someone who has been discouraged from asking
questions and forming an opinion, this transition
can be paintul,

62. Which one of the fllowing atatements best

reflects the central idee of the passage
given ahove 7

{al  Behool curriculum is not compatible with
the expectations of children and parents,

ih}  Emphosis on academic achicvements
does give time for development of
perzanality and skilla.

(el  Preparing the children to be
citizens should be the responsibility of

bt dor

the education syatamm.

td)  To bea better citizen, the present world
order demunds societal and life-coping
akillz in addition to academic content,

(37-A)
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63. There are threg points P, Q@ and B oo a
giraight line zuch that PQ . QR =3 : 5. Ifnis
the number of pessible values of PG PR, then
what iz moegqual to 7
ay 1
thy 2
[ S
dy 4

64. Om a chesr board, in how many different waya
can 6 consecutive sgquares be chosen on the
diagonals along a straight path 7
Lal
(h}
my B
dy 12

83. In the zertes b a ba_ b abab aab; fill in the
eix blanks () naing one of the fllewing given
four choices auch that the series follows a
specific order,

[a) hababa
{bl  baabbe
() bbaabb
d) ababab

66. Using 2, 2, 3, 3, 3 aa digits, how many distinet
numbera greater than SO0 can be formed 7
fa 3
hl &

{e) 9
(d) 12

B7. Congider the following statements

I.  The sum of & sonsecutive integers can be
104,

2, The preduct of three consecutive natural
numbers can be egual to their sum.
Which of the above ctatements iafare

carrect 7

ial laonly

tbl  Zonly

(¢} DBothland2

‘d] Meither 1 nor 2
BXC-B-GYL

(1.8

[A8-A)

A pubical veagel of aide 1 m i3 filled completely
with water, How many millilitres of water
ia contained in it {peplect thickness of the
vesgel) 7

far 10400

(h} 10000
lel 100000
dl 1000000

There are B persona arranged in a row,
Another person hae to ahake hands with 8 of
them ¢ that he should not shake hands with
{wo ronsecutive peraomg. Tn how many distinet
possible combinations can the handshakes
toke place ?

al 3
b 4
ey b
d) @

An amount of money was distributed among
A B and Oin the ratio p:gir.

Consider the following statements ;

1. A peta the maximum shwre if p is
greater than (g + rl,

4. O gets the minimum share if T i3 less

tham (p +qb
Which of the above siptoments igfare
correcl ¥

[a] L omly

(b} Zonly

I

{z]  Bothland 2

()} Moither 1 nor 2
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Directions for the following 3 (three) itemes :

Regd the following fwo possoges ond orster S
ftere that fallow. Your answers o these thers should
b brrsed on the passages anly.

Passage - 1

Medieval merchanta risked the hazards of
the Silk Road to reach the markets of China;
Portuguese caravels in the 15" pentury asiled
bevond the hounds of the known world, searching
lezg for knowledge than for gold and spices.
Historically, the driver for opening frontiers has
always been the search for resources. Science and
curinsity are weaker drivers. The omnly way to
open up epace, whether the space of solar system
of interatellar apace I8 to create anm ecomomic

enging and that engine ia reaource extraction.

7. Which one of the following atatementa best
simg wp the pagsage given ahove ?
() Wealth generation iz the pritnary maotive
for any human endeaoar.
(bl Bpacs, whether space in solar avatem or
inferstellar apace, will govern our future
BT,
¢l Human beings are motivated to explore
new frontiers principally by eeonomic |
copsidernbions,
i
{d} Wealth pgeneration I8 based on the
risk-taking hehavieur of sone men.
BXC-B-GYLI

Passpge = 2

.o mnat people would apree that telling
deliberate lies is wrong, except perhaps in certain
gpecial situations where more harm will be done
hy telling the truth. Even the moat truthfol
people probahly tell 8 good many more liea that
might be regarded as gemantic lies; their nae of
wirds tonlains gome measire of falashood, ore

or fess deliberata.”™

72, The idea which the first part of the pazsage

kN s 15

la)  agreement about telling lies,

(b1 dissgreement about telling lies.

el dissgrecment about telling the drath.

id}y  dissgreement aboul the harm in telhing
the truth.

Td.  Which one of the following hakbitz s found

mure oflen in goeesd people 7
o}  Mixing up the true and fulse

(b) Intentional mixing up of truth with the
falae

(el Falzsifeation of facls

iy Complete concealment of truth

(41-A)
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74, A pie disgram shows the percentage
distribution of proteingz, water and olher dry
elernenta im the homan body, Given that
proteina  eorrespond  to 16%  and  water
correaponds to 7%, I both preteins and the
other dry elements correspond to p%, then
what ia the rcentral angle of the sector
repreaenting p on the pie diggrom 7
i)  B4"

(b) 96"
ey 1op®
d)  120°

Ta.  Joeseph visits the club on every 5th day, Hoarsh
vigits on every 2410 day, while Sumit visits on
ovory 99 day. If all three of them mel at the
tlub on & Sunday, then on which day will all
thress of them meet again ¥
fa)l  Monday
(hy Wednesday
i} Thursday
(d}  Sunday

76. The difference between a 2-digit number and
the number ebtained by inlerchanging the
positione of the digits i3 54,

Constder the following statements

L, The sum of the two digita of the number
can be determined. only if the product of
Ehe two digits 1s known,

Z, The difference between the two digita of
the number can be delermined.

Which of the above statements izfare

vorrect ¥

o) lonly

b 2only

icl  Both1and 2

d)  Meither 1 nor 2

BxC-B-GYL

1

(43-A)

7.

X osaid o ¥, "At the time of vour birth T was
twice s old as wou are at prosent,” I the
prezent age of X is 42 yvears, then consider the
following statements ;

1. B yearz ago, the age of X was five timea

thie age of Y,

2. After 14 vears, the age of X would be tiwa
times the age of Y,

Which of the above statements iafare

correct ?

vy 1 ondy

b} 8 only

(¢} Hoth land?2

idy  MNeither 1 nor 2

If the price of an article is decrensed by 20%
and then the new price is increased by 26%,
then what is the net change in the price ¥

(al

b} 6% increase

fed 5% decreasze

id}  Cannol,  be determined dus o

insullficient data

When a certain number is multiplied by 7, the
product entirely enmpriges ones only (1111.).
What i the emallést such number ¥

{a) 15713
by 15724
(e} 15783
) 15874

A man completes 78 of a job in 21 davs, How
miany more days will il take him to finish the
job if quantom of work is farther increased by
BO% T

(a) 24
bl 21
i 18
LD 15
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T.B.C. : BXC-B-GYLI Test Booklet Series

TEST BOOKLET

GENERAL STUDIES
PAPER - 11

Tire Allowed - Tewo Hors Maximeum Marks : 200

-

INSTRUCTIONS

IMMEIMATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, ¥YOU SHOULD CHECK THAT
THIS TEST BOOKLET DES MO HAVE ANY UNPRINTED OF. TOEN OF MISSENG PAGES OR ITHMS,
EFTC, LF Sk 1T 1T REPLACED BY A COMPLETE TEST BOOKLET.

Flease note that it ls the candldate’s responsibility to encede and Gl in the Boll Mumber and Test
Booklet Serles Code A, B, C or I carefully and without any omission or discrepancy at the
appropriate plases In the OME Answer Sheel. Any omission/diserepancey will render the Answer
Sheet Hable for rejection.

You have to enter vour Roll Nember on the
Test Bopklet in the Box provided alongaide.
DO NOT write anything elre on the Test Booklet.

This Test Bookle, containg 80 ilems {guestions!, Esch item is printed both in Hindi and English.
Each item compriges four responses (answers), You will elect the response which vou want to mark
on the Answer Sheel. Inocase you feel that there is more than one correct reaponge. mark the
responge which you conzider the best. In any case, choose ONLY ONE rosponse for each item.

You have to mark all vour responses OMNLY on the separate Answer Sheet provided, See directions
in the Anawer Sheet.

Al ilems carry wiqual murks.

Before you procesd to mark in the Anawer Sheet the reaponse to varions ilems in the Test Booklet,
you have to fill in some particulars in the Anawer Sheet as per ingtruetions sest to you with your
Admirsion Certificate.

After you have completed filling in all ¥vour reaponses on the Answer Sheel and the exsmination has

oomeluded, vou should hand owver to the Invigilator only e Answer Shee!, You are permitted to take
avray with vou the Teat Boolklet.

Eheets for rough work are appended in the Teat Booklet at the end.

Penalty for wrong nnoswers ;

THERE WILL BE PENALTY FOR WRONG ANSWERS MAREED BEY A CANDIDATE.

(i1  There are four alternatives for the answer to every question. Far each guestion for which a
wrong anawer has been pgiven by the candidate, ome-third of the marks azsigned to that
question will be deducted as pemalty.

(i) Tf o condidate sives more than one answer, it will be treated as 5 wrong answer even if ane of
thes given unswers happens to be correct sand there will be same penalty as above to that
gqueslion,

viii) 6 e queestion iz lefl Blank, Lo, no answer is given by the candidate, there will be no penalty for
that question

0O NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO 00O 80
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